AR KR =7Hvh—1)—/[0-40] HifER

FE)—5
B e
B cHIn—=> RBEFCUZT | PRARY ZT | RARE—FCO=T | KETUNE—L 55T skFC EHRY—LR 9§
m| o=
o R @) @) @) @) A
1L | RHFCI=7 13| 15
5 - 0f1t - 0]9 - 0|4 - O0f(0 - 0
" o A @)
5L | PrLXL =7 4 -4
0O - 5 1 - 1 1 - 0 - -
" o A @)
3fiL [v1r42—FCL =7 4 2
o - 1 1 - 1 3 - 0 - -
" ) \ o o o o o
6L |RBRTYrKR—ILHST 0| -19
o - 9({0 - 1]0 - 3 i1 - 2|0 - 6
" o @) A
v skFC 4 -3
0O - 4 - - 2 - 1 2 - 2
| e A @) A
2 | BHIRU—LZR 5 6
o - 0 - - 6 - 0|2 - 2
B 5
Bz DI IN—F HEHR—)Y |2 RFCOZ7|ARA—ILFR—1X| FCIRRABKL =7 | RHR) T4 =7 §
=1 =
o @) @) @) @)
160 | E@mk—J>r 12 9
i - 0|3 - 0|5 - 1 1 - 0
" . o O @) A
2{5f [=a)LRFCL =7 7 7
o - 1 7 - 3[4 - 00 - 0
. | e ® ® ®
54 | KBRA—ILER—( X 0| -11
o - 3|3 - 7 o - 3|0 - 1
" R o o @) o
AL | FCIRRIBR S =7 3 -8
i - 5|10 - 413 - 0 1 - 4
N . o A @) @)
3L | WK TAV=TF 7 3
o - 1{0 - 0|1 - 0|4 - 1
I 5 3R 7E Bk 237 (REIEPK)
9:50 5./ 64 - BRYTALZT
12:40 3646 — ZOJLRFCY =7
15:30 147241 XHFCL =7 - EmEA—U>
=%
EBiH

E3fL




